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Below is a list of pairs of voting methods and fairness criteria. You should choose 3 out of the 4
pairs to answer (you can also answer all 4 and I will grade all four and give you your highest 3
scores). For each pair you answer, you need to decide if the voting method satisfies or violates
the given voting criterion, and then support your conclusion in whatever way is appropriate.
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Below is a list of pairs of voting methods and fairness criteria. You should choose 3 out of the 4
pairs to answer (you can also answer all 4 and I will grade all four and give you your highest 3
scores). For each pair you answer, you need to decide if the voting method satisfies or violates
the given voting criterion, and then support your conclusion in whatever way is appropriate.
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